Mult:p!y m:xed numbers by rewrltmg the mlxed numbers as ;mproper
’fractions Then, muitlply 'the numerators and denommators
Muitlply 2 >< 22 Rewnte as ampmper fractlons -17—5><.§;
T T 15840
_ Cance§ rf possab!e-. Mu[tap!y. T >< =7
R Wrrte the nmproper fractson REURIIEERY. T) ERe i
- o L == 5T
L asa maxed numﬁ)er Ly 7.7
Multiply. Reduce your answer to lowest terms.
1. 31 x5i= 2. 62x7%= 3. 123 x5%=
4. 12x2%= 5. 42X 10} = 6. 2Z2x5%=
7. 2% x 4%= 8. 3% x 83 9. 13X 93 =
10. 27 x 5% = 1. 165 X 4% = 12, 24 X 3%=
13, 41 x 45 = 14. 65 % 3%= 15. 13 x 55 =
16. 55 X 63 = 17. 65 x8%= 18. 101X 5=
1 i
| 19. 123 X 47= 20. 152 X 43 = 21. 255 X 25=
22




Directions: Choose the one best answer to
each item. Circle the number of the correct
answer.

Items 22 and 23 refer to the following figure.

T

3
3?1 yd

1

22, The rectangle shows the dimensions of
Pedro’s garden. What is the area of
Pedro’s garden? (Area =1 X w)

| 5 yd |

(1) 75 square yards
(2) 16 square yards
3) 18% square yards
(4) 20 square yards
(5) 12 square yards

23. If Pedro wants to use 3 of his garden’s
area for flowers, how many squatre yards
of the garden will have flowers?

(1) 9% square yards
(2) 9 square yards
(3) 9 yards

(4) 9% yards

(5) 82 square yards

24. Rosie wants to find the area of a square
tabletop. Each side is ZO% inches. What is
the area of the tabletop?

(1) 41 square inches
(2) 420+ square inches
{(3) 451 square inches
(4) 1123 square inches
(5) 42 square inches

28,

26.

27.

28.

Sam is installing floor tile. He computes
the area of a room by multiplying the
width of 18] feet by the length of 95 feet.
What is the area of the room?

1) 174% square feet
(2) 1752 square feet
(3) 37 square feet
(4) 148 square feet
(5) 19 square feet

A truck uses 2% gallons of gas per hour.
How much gas would this truck use in
13 hours?

(1) 4 gallons
(2) 4% gallons
3) 4—% gallons
(4) 5 gallons
(5) 47 gallons

A merchant in Venice bought roses
wholesale for 1% lire each. He sold them
for 2—;— times the price. What is the price
in lire for one rose?

(1) 33 lire
(2) 3 lire
(3) 3% lire
(4) 47 lire

(5) none of the above

For customers with large orders, the
merchant sells them for only 1% times the
wholesale price. How miuch does he
charge for a discounted rose?

(1) 14 lire
(2) 2 lire
(3) 23 lire
(4) 3lire

(5) none of the above




